
Controls Exercise
10

100

1000

10000

p = 0.027

M
e

a
n

h
s

-c
T

n
T

c
o

n
c

e
n

tr
a

ti
o

n
(n

g
/m

L
)

Controls Exercise
100

1000

10000
p = 0.028

M
e
a
n

C
K

c
o

n
c
e
n

tr
a
ti

o
n

(u
L

/m
L

)

Controls Exercise
1

10

100

1000

10000

100000

p < 0.001

C
h

a
n

g
e

lo
w

e
s
t

to
h

ig
h

e
s
t

h
s
-c

T
n

T
c
o

n
c
e
n

tr
a
ti

o
n

(n
g

/m
L

)

Controls Exercise
10

100

1000

10000
p = 0.005

C
h

a
n

g
e

lo
w

e
s
t

to
h

ig
h

e
s
t

C
K

c
o

n
c
e
n

tr
a
ti

o
n

(u
L

/m
L

)

A. B.

C. D.

BMJ Publishing Group Limited (BMJ) disclaims all liability and responsibility arising from any reliance
Supplemental material placed on this supplemental material which has been supplied by the author(s) BMJ Open Sp Ex Med

 doi: 10.1136/bmjsem-2022-001488:e001488. 9 2023;BMJ Open Sp Ex Med, et al. de Koning IA


	Layout 10

